51

PIONEER FLURD POWER

HIGH PRESSURE GEAR PUMP
BAP2.5(BHP2.5
i0fTiT%/ HOW TO ORDER
BA U p H 25 | HE [ o] | A || W || MO || WMDEE || A WS
] Front cover Rotation Size Shaft Ports Ports position Seals Options
| | I | | |
RS P- ERE a3 A0 D Gk 5% 10
Series Pump Group Clockwise 125
BA-§, B2 Al L
HihEEE S | Counter 16
gl g | TEE® | [T
aluminum Reversible 20
BH-HI, FEHE 23
HE%EARLBA 25
355 30bar, %5
BH-Front and
end cover material 2%
cast iron, 30
pressure than 9
"BA"series high %
30 bar.
40
45
BAfE Ports position
B Omit-Side inlet and side outlet
A-BIEATH A-Front inlet and front outlet
B-Ritat B-Back inlet and front outlet
C-Rt M C-Back inlet and side outiet
D-farH D-Side inlet and front outlet
R-Gif Gt R-Back inlet and back outlet
i3] Seals
HR-BETEE-10C~+80C il R BHRE N H3bar, Omit-Range between —10°C and +80°C,inlat pressure up to max. 3 bar absolute,
V-BRFRENR, EESEEE-10C-+120C, V-Version suitable for fluid at hi-temperatures, range between -107C and +120C.
H-ERTEEAR, REEE#-40C-+80C, H-Version suitable for flid at low-temperatures, range between ~40'C and +80TC.
T-ERFittih OB KEHEH13-6bar, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-i& i Fitt i O e A 404 73~ 100ar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.
0l Examples:

BAP25-A0-D-10-C0-Z0=  GRt$HE, HHE 10corev, AD BT, COEHEHMR, Z0 TMO, Rk

clockwise rotation, 10 cc/rev, AD front cover, CO parallel shaft, sefting ports Z0 type, standard seals
BHP2.5-A1-D-10-C1-FO=  JEIEHE, #& 10cohev, A1 B, Cf MMM, FORERD, ki

clockwise rotation, 10 cc/rev, A1 front cover, C1 parallel shaft, sefting ports FO type, standard seals
BHP2.5-A2-D-10-S3-U0-N= JiiRt§H3s, #ER 10 colrev, A2 BT, S3SAE B 138, U0 REMO BERHN)

clockwise rotation, 10 ccfrev, A2 front cover, SAE B splined 13T shaft(S3), setting ports U0 type, high pressure seals(N)




HIGH PRESSURE GEAR PUMP

BAP2.5A0

- ‘ M18x1.5 B4R 15, M18x1.5 thread depth 15,
M22x1.5 $B41% 16, M22x1.5 thread depth 16,
M27x2 BB4LR 19, M27x2 thread depth 19,
M33x2 $B4L% 20, M33x2 thread depth 20,
b RERR, n4 M2 BETRERTH To mount the pump, n.4 M12 screws,
il 75..80 Nm. with a torque wrench setting fixed
- at 75...80 Nm.
iip:fu #im0
OUTLET INLET
154 M 45
65 130 !
125

17.3

T

]
‘V\

IJ]

7 a A ﬂ =
Al == =i = : Q\ 18
- SIE < : | | ) |F
Y = 1 7] a2
090 @ ¥
g u] 1 O n
6
d 92 D
8| &
g #E BAEN BERE BifsE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
_P1 P2 P3 _ M L D d
‘bar | bar | bar oommoomm I |
BAP2.5A0-D-10 10 250 210 290 800 10 53.3 M22x15 | Mi8x15
BAP2.5A0-D-125 125 260 210 290 800 113 548 M22x15 | Mi8x1.5
BAP2.5A0-D-14 14 250 210 290 700 115 558 M22x1.5 M18x1.5
BAP2.5A0-D-16 16 250 210 290 700 118 574 M27x2 M22x1.5
BAP2 5A0-D-18 18 250 270 290 600 120 583 M27x2 M22x1.5
BAP2.5A0-D-19 19 250 210 290 600 121 58.8 Merx2 M22x1.5
BAP2 5A0-D-20 20 250 210 290 3000 500 123 596 M27x2 M22x1.5
BAPZ 5A0-D-23 23 230 250 260 3500 500 126 61.3 M33x2 M27x2
BAP2.5A0-D-25 25 230 250 260 3500 500 129 62.6 M33x2 M27:2
BAP2.5A0-D-26.5 265 230 250 260 3500 500 131 636 M33x2 M27x2
BAP2.5A0-D-28 28 230 250 260 3500 500 133 64.6 M3an2 M27x2
BAP2.5A0-D-30 30 230 250 260 3000 400 135 65.6 M33x2 M27x2
BAP2.5A0-D-32 R 200 230 250 3000 400 138 67.1 M33x2 M27x2
BAP2.5A0-D-36 36 200 230 250 2750 400 142 69.1 M33x2 M27x2
BAP2.5A0-D-40 40 160 180 200 2500 400 148 76 M33x2 M27x2
BAP2.5A0-D-45 45 160 180 200 2500 400 153 748 M33x2 M7




HIGH PRESSURE GEAR PUMP

BAP2.5A1(BHP2.5A1]

53

M10x1.25 B4R 15. M10x1.25 thread depth 15.
v
Screws tightening torque Nm
75..80
130...135
i} g0
OUTLET INLET
130 M 2
65 106.4 L
M10x1.25 v M10x1.25 125
- g —
Z ]
" : ||
| GAre ol 1t - . Lo TH
o [MAR S R . = oM@ | L o
pr T
=
=,
478 q D
90 A
z ey
g #E BXER REHE BIERE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BAP2.5A1-0-10 10 250 210 290 4000 800 110 [533 |476 (222 | 20 |476 |222 | 13
BAP2.5A1-D-12.5 125 250 210 290 4000 800 113 [548 |476 |222 | 20 (476 |222 | 13
BAP2.5A1-D-14 14 250 270 290 4000 700 15 | 558 | 476 |222 | 20 |476 (222 | 13
BAP25A1-D-16 16 250 270 290 3500 700 118 | 57.1 | 476 |222 | 20 |476 |222 | 13
BAP2.5A1-D-18 18 250 270 290 3500 600 120 | 58.3 |524 (262 | 25 |476 |222 | 20
BAP2 5A1-D-19 19 250 270 290 3500 600 121 | 568 | 524 | 262 | 25 |476 |222 | 20
BAP2.5A1-D-20 20 250 270 290 3000 500 123 | 596 [524 (262 | 25 |476 |222 | 20
BAP2 5A1-D-23 23 230 250 260 3500 500 126 [ 613 [524 (262 | 25 |476 |222 | 20
BAP2.5A1-D-25 25 230 250 260 3500 500 129 | 626 [524 (262 | 25 |476 [222 | 20
BAP2 5A1-D-26.5 265 230 250 260 3500 500 131 | 636 [524 |262 | 25 |476 (222 | 20
BAP2.5A1-D-28 28 230 250 260 3500 500 133 | 646 [524 (262 | 25 |476 [222 | 20
BAP2.5A1-D-30 30 230 250 260 3000 400 135 |656 | 524 |262 | 25 |476 222 | 20
BAP2 5A1-D-32 32 200 230 250 3000 400 138 | 671|524 |262 | 25 |476 (222 | 20
BAP2.5A1-D-36 36 200 230 250 2150 400 142 | 691|524 (262 | 25 |476 |222 | 20
BAP2.5A1-D-40 40 160 180 200 2500 400 148 | 716 | 524 | 262 | 256 |476 |222 | 20
BAP2.5A1-D-45 45 160 180 200 2500 400 153 | 746 | 524 |262 | 25 |476 (222 | 20




BAP2.5[BHP2.5]

HIGH PRESSURE GEAR PUMP

B Z/FRONT COVER ${RISHAFTS
130 125 45 45
A F. ;
8 = I{ i =
L) = N [LJ L%
& 6 I 6-20x16x
[ H
RAHE RAAE
Max. Torque 200 Nm Max.Torque 240 N
106.4 125 45 2 45
65 |28 2 25
§ N & — i g —
N~ S 8 = g e
& 6 E2478 4180156
A (2
BAHE BAHE BAHE
Max.Torque 180 Nm Max.Torque 190 Nm Max.Torque 200Nm
45 39 39
- < n_. 2
i I I
I 6-20x16x4 EXT12Z-1.5m-30° DP16/32-30° ~10T
80 ]
RAHE RAHAE RAHE
Max.Torque S Max.Torque 220 Nm Max.Torque 200 Nm
3% 4
N2 N %
. | -
DP16/32-30° 11T DP16/32-30° -13T
83
RAHE RAAE
Max. Torque eiiNm Max.Torque 300 Nem

54



55

BAP2.5[BHP2.5]

HIGH PRESSURE GEAR PUMP

il /PORTS
Afa)
m
= $
= T i HORE #W0 0
! fo] TYPE PORTS CODE INLET OUTLET
n40(0) D(d) A B (1] Blla b ¢ d
BA(H)P25..10 + BA(H)P25...16 FO |476 [222 | Mioxi25 |20 |476 222 | MIxi5 |13
FO/F1 BA(H)P25..18 + BA(H)P25..45 F 524 (262 | MIOXI25 |25 (476 |222 | MiOx125 |20
SIS
&
z| 8| L P, - 4
& TYPE INLET OUTLET
‘ - A B (o a b c
' BA(H)P25..10 + BAH)P25..16 | 55 20 M8 55 1 M8
oAHP2s. 16 8PS | 55 | 5 | we | s | o |
] il HoRe W0 0
s TYPE PORTS CODE INLET OUTLET
BA(H)P25..10 = BA(H)P25...14 i) M22x1 5 M18x1.5
BA(HJP25..16 + BA(H)P25..20 Vi M27v2 M22x1.5
20121122 BA(H)P25..23 + BA(H)P2.5..45 i) M33x2 Mo7x2
g Y RS I 0
] TYPE PORTS CODE INLET OUTLET
BAIHIP25..10 + BA()P25..23 uo 1116-12 UNF 7/8-14 UNF
oA BA(H)P25..25 + BA(H)P25..45 U 15/16-12 UNF 11/16-12 UNF




HIGH PRESSURE GEAR PUMP

BAP2.5[BHP2.5]

il O/PORTS
g sl HORE #0 i
TYPE PORTS CODE INLET QUTLET
BAHJP25..10 + BAH)P25..23 L0 634 GIl2
LoL1 BAMP25.25 + BARP25.45 u of a3

Ala)

@L - BORE 0 i
] TYPE PORTS CODE INLET OUTLET

BA(H)P2,5..10 + BA(H)P25..23 RO PT3/4 PT1/2

RO/R1 ‘BA(H)P25..25 + BA(H)P25..45 Ri PT1 PTal4




